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1. Where is Mr. Johnson's white shirt? :
A. In the washbasin. B. In the washing machine. - C! In the cupboard.
2. On which days next week will the man have examinations? '

A. Every day except Thursday.

B. Monday, Wednesday and Friday.

C. Monday, Tuesday and Friday.

3. Where does this conversation most probably take place?
A. At a party. B. At a supermarket. C. In a hospital.
4. Why does the man need the book?

A. He wants to read it

B. He needs it to do his exercises.

C. To give it to the woman. '

5. What kind of envelope does the woman want?

A. The small size. 'B. The large size.

C. Either the large size or the small size.

EoH( IS/ E;HNE LS55, W3 2255)
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U755 6 BLAP K, I3 6-8 E,

6. What is the man looking for?
A. A friend. B. A rcommate. C. An apartment.
7. Why can't he stand the man living upstairs?

A. Because he often comes back late.

B. Because he plays music all night.

C. Because he always wakes him up early in the morning.

8. Whom will the man probably live with?
A. Francis. B. A stranger. C. Diana’s brother.
WP 5 7 BUbhi, &S 9-11 &L, '
9. What salary does the company pay the second year?
A. § 15,000. B. $12,000. C. $10,500.
10. What do you know from the conversation?
A. He is a graduate from a college.
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B. He is still a college student.

C. He is a lucky man of the day.
Which of the following is true?

A. The man has a lot of working experience.

B. The man won' t know anything about vacation.

C. The man is having a job interview.

WroR 8 B, Bl A 12-14 A8,
What are they talking about?

A. A rip to Sydney. B. Plans for the summer.

. Where does the woman work now?

A. At her father’ s store,
C. She does no work but stays at home.

When does the man join in singing and telling stories?
A. In the moming. B. In the afterncon.
UrsE 9 Bbtet, B 15-17 8,

What is the date today?

A. July 25, B. July 23.
How many flights are there every day?
A. Two. B. One.

What should the man do before he can get the ticket?
A. Just fill in the form and wait till tomorrow.
B. Pay all the money for the ticket.
C. Fill in the form and pay part of the money.
Wr S 10 BUbbH, [E1 &5 18-20 .
What do children learn at camps?
A. They learn painting or music

B. They leam computer programming or foreign languages.

C. They learn skills and develop independence.
How much can parents pay for an overnight camp?
A. More than 700 dollars a day.
C. More than 700 dollars a week.
What's the purpose of the Fresh Air Fund?

A. To help poor children from the country to attend camps.

C. Their work in the city.

B. At a bookstore.

C. At night.

C. July 21.

C. Seven

B. 100 dollars a week.

B. To help poor children in New York City to attend camps.

C. To help poor children from the whole states.
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1. What will the woman do?

A. Return the CD to the man next weekend.

B. Borrow a CD from the man next week.

C. Return the CD to the man at once.

2. Where does the conversation take place?
A. In the department store. B. On the second floor. C. At a man’ s store.
3. Why couldn’t the woman get through?

A. The man’ s telephone was out of order.

B. The man’ s receiver wasn't put in the right place.

C. The receiver of the man’ s telephone was broken.

4. Who painted the house?

A. Henry. B. Henry’s friends. C. Someone else.
5. What does the man think of Jack and Lucy?
A. They will part with each other. B. They are friendly.

C. They are sure to get married.
W5/ HNE LS8, WP 225 5)
W AR IERMA. SRNERBHER LN NE, NEFETAH A B.C =4 %
TUrh i i B AR I FE AR IR MR B . O 48 B R BB 3 AT, 0 A B I E A/
BB/ S BT RE, &/NEEA Y S Ba e B RTR]. 2B IS M IR .
W3 6 Brbhkt, IS 6-8 B,
6. What is the man going to do?

A. To buy some medicine. B. To buy some books. C. To post a letter.
7. What does the woman ask the man 1o do for her?

A. To lend her a bike. B. To get some hooks. C. To buy some medicine.
8. What's the matter with the woman?

A. She has got a cold. B. She can't sleep well at night.

C. She fell and hurt herself.

Wrs 7 Bbh R, BB SE 9-11 BE,

9. What do you think the woman probably is?

A. A worker. B. A student. C. A housewife.
10. Where will they meet?
A. In front of a bookshop. B. Near the cinema. C. At the bus stop.

11. How will they go there?
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A. By bus, B. By bike. C. On foot.
USR8 BUbf M, ISR 12-14 &,
What most probably are the two speakers?
A. A guide and a tourist.
B. A factory worker and a journalist.
C. A worker and a manager in the factory.

. What does Workshop One produce? .
A. Radio packs. B. Radio parts. C. Radio models.
Where are the new models made?
A. In the lab. B. In the sample room. C. In one of the workshops.

Wik 9 BbOR, IS 15-17 &,
What is the possible relationship between the two speakers?
A. Good friends. B. Mother and son. C. Student and teacher.
What did the boy often do at school?
A. He was often late for school.
B. He often fell asleep in class.
C. He often stayed after class.
Which of the following statements is true?
A. The boy prefers to go out and work.
B. The boy has neither much interest in school nor in work.
C. The boy is discouraged because he hasn't passed the exam.
W5 10 BrbH R, B SR 18-20 &,

. What's the purpose of getting a hot, damp cloth before dinner?

A. To clean the table. B. To put it on the knees. C. To clean face and hands.
What do Chinese usually use for dinner?

A. Forks. B. Spoons. _ C. Chopsticks.
What do Chinese prefer to drink at a dinner party?

A. Milk-tea. B. Beer. C. Coffee.
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1. What does the woman mean?

A. The man is a bit particular about his clothes.

B. The man knows nothing about clothes.

C. The shirt feels hard.

2. What does the woman suggest?

A. They don't have to go to the concert.

B. His brother will let them use the ear.

C. The bus is fine with them.

3. What did the woman promise to do?

A. To receive some guests.

B. To have a talk with her own daughter

C. To have lunch with both Scott and his daughter.

4. What is the man going to do?

A. He wants to buy her a radio.

B. He wants the woman to fix his radio.

C. He will call her when the radio is fixed.

5. How many days will the woman be traveling?

A. Ten days. B. Eight days. C. Fifteen days.

EZW(HISNE; SRS 5,88 2259)

W FEABXERMA. SEXESMARAELA/NE ABEFTEMABC=1%
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Wi 6 BRAfk, [ 6-8 &,

6. Where does the woman get off?

A. In River Street. B. In front of the hotel. C. At the bus stop.
7. What are they talking about?
A. The dirty car. B. The heavy traffic. C. The weather.
8. How much does the woman pay?
A. Eighty—five cents. B. One dollar. C. One dollar and fifteen cents.

WSS 7 Bk, B 9-11 .
9. When did the woman go to see Kate?

A. Two days ago B. A week ago. C. Two weeks ago.
10. What do we know about Kate?
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A. She's too busy to see a doctor.

B. The doctor’s advice does her no good.

C. She hasn't got well though she’s seen a doctor.
Who will go to see Kate? _
A. The man. B. The woman. C. Both of them.
Wrsh 8 B, EES 12-14 ..
In creating viruses, a person has to

A. watch things blow up

B. write the code and test it

C. write silly messages or destructive messages

. There are reasons for people writing viruses.

A. three B. at least three C. over two

. People create viruses in this order:

A. write the code——test it—make sure it spreads properly

B. release the virus-—test it——make sure it spreads properly

C. make sure it spreads properly———test it~-release the viruses
Wi 9 BbO R, B 15-17 &,
Where did the man work before?

A. In the shopping department.

B. In the shipping department. C. In a bank.
How did the man find the work and the people there?

A. The work was tiring and the people weren't friendly.

B. The work was tiring but the people were polite.

C. The work was interesting but the people were impolite.
What did the woman wish?

A. She wished that the man would get on well with his work.
B. She wished that the man’ s idea would come true. .

C. She wished that the man would become friendly.

Uy 10 BUbt R, JE1 %556 18-20 M,
What happened to the 12-year—old boy?

A. He fell into the river but couldn’t swim.

B. He fell into the river together with his bike.

C. He had his foot caught between two posts in the river.

. What did the young man do when he saw the boy in danger?

A. He jumped into the river immediately.

B. He took off his coat and jumped into the water.
,C. He dashed down the bridge to save the boy.
What did the little boy do after he was rescued?

A. He asked what the young man’s name was.

B. He asked the young man to take him home.

C. He thanked the young man and then ran away.
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1. Why haven' t they met recently?

A. Because the man has been abroad for a few weeks.

B. Because the woman has been abroad for a few weeks.

C. Because they live in two different cities.

2. How much will the woman lend the man?

A. $13.00. B. $7.00. C. $6.00.
3. Where does the conversation probably take place?
A, In a hotel. B. In a library. C. In a laboratory.
4, What' s the relationship between the man and the woman?
A. Mother and son. B. Friends. C. Husband and wife.

5. Where does the conversation probably take place?
A. In the man's house. B. In a restaurant. C. In a dining- room.
FEW(H IS /EB/NE LS 53,5 225 5)
WFmAERMNESMA. SRMESMAEREILN/ME, ABERSMN AB.C =4k
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T 6 BUR R, [EE 3 6-8 £,
6. What is the most probable relation between the two speakers?

A, They are friends. B. They are strangers.  C. They are scientists.
7. Where does this conversation take place?

A. On a train. B. On a bus. C. On a plane.
8. Why is the woman traveling?

A. She is traveling on holiday. B. She is traveling on business.

C. She is traveling to give some lectures.

WreE 7 ARl EESE 9-11 M,

9. What should everyone do in the reading room?

A. Keep silent. B. Talk with each other. C. Laugh and sing.
10. Where is the library?
A. In an office building. B. Very close to the bedroom.

C. Far away from the school gate.

11. How long will the library open every day?
A. 12 hours. B. 10 hours. C. 11 hours.
Wrsh 8 BURP KL, [BIE R 12-14 §F,
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. Where is the woman?
A. At home. B. In a hospital. C. In a police station.

. What happened to Nick?

A. He broke his leg and arm.  B. He was knocked by a car.

C. He had a bad car accident.
Why does the man phone to the woman?

A. He wants to come and see Nick. B. He expresses his concern for Nick.
C. The woman needs the man’s help.

UrsE 9 BrbHH, K5 15-17 &,
Where are they having the conversation?

A. At the gas station. B. At the police station. C. At the garage.
What can we learn about the woman?

A. She’s just had an accident because of a cat on the road.

B. She has just had an accident because there was- liftle oil left.

C. She's just bought a new car but she hit a tree.
What can we learn about the woman's husband?

A. He will take the woman to hospital.

B. He needs a car very much.

C. He is a slow driver.

WrsH 10 BLAf K, IS 18-20 &K,

What kind of clothes does the speaker’ s sister like?

A. Cheap clothes. B. Ordinary clothes. C. Clothes of new design.

What do the twin sisters have in common?

A. They enjoy loud music. B. They enjoy friendship.

C. They want to have their children.
Why doesn't the speaker like living in the same room with her twin sister?
A. The speaker likes to keep things neat while her sister doesn’t.

B. Her twin sister often brir;gs friends home and makes too much noise.
C. They can’ t agree on the color of the room.
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1. What is the man going to do?
A. He is going to have dinner. B. He is looking for a hotel.
C. He is trying to find the nearest street.

2. What are they talking about?

A. The woman’s new hair style.

B. The colour of the woman's newly—painted car.

C. The repair job she did to fix her old car.

3. Why won't the woman eat any more?
A. She’ s had enough. B. She' s not feeling well. C. She' s losing weight.
4, What does the man suggest?

A. It is polite to write back.

B. Send her aunt a present to show her apology.

C. Keep in touch with her aunt through the Internet.

5. How much did the man spend for his lunch?

A 875 B. $ 6.5. Cheo.

FEA (IS MEHE LS 2, ES 225 57)

W F B RS BEERMAERLN/NE, MEG TSR A B.C =ik
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WrE 6 BrhhEL, M 6-8 .

6. What happened to the man’'s bike?
A. Tt was hit by a car.  B. It was hit by a truck. C. It was broken on a street.
7. How was the bike after the accident?

A. There was nothing wrong with it.

B. It was completely damaged except the wheels.

C. The wheels were both damaged.

8. When did the accident happen?

A. When the man was riding on it.

B. When the bike was in front of the man's house.

C. When the man was getting off the bike.

M EE 7 BURDEL, RIS 9-11 B,

9. Why does David call Vicky?
A. He doesn't understand how to do the biology homework.
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B. He is not sure what the biology homework is.

C. He needs Professor Barber's phone number.
What does Vicky think about the homework?

A. She understands it clearly. B. She finds some parts of it difficult. .
C. She’s ready to stop working on it.

. How does Vicky respond to David's problem?

A. She offers to do the homework for him.
B. She thinks it's too late to help him.
C. She agrees to work with him.
Wrsh 8 BLBER SR EE 12-14 &,
Why are they here?

A. To listen to some music. B. To visit the castle. C. To meet friends.
What caused the other members’ delay?
A. They went the wrong way. B. They didn't know the time.C. No reason is given.

Which of the following is right?
A. Their friends have appeared at last.
B. It’s half past four now.
C. They will come here again next Sunday.
Wrsh 9 BAH, EIES 15-17 B,
Why does the man like his present job?

A. The good pay. " B. The fresh air. C. Both A and B.
. Which of the following jobs is the least one he wants to do?
A. Gardening. B. Teaching. C. Doctor.
What is the probable relationship between the speakers?
A. Husband and wife. B. Boss and clerk. C. Friends.

s 10 B, B 55K 18-20 §8.

Where is Juan?

A. In his country. ' B. On a plane, C. In a foreign country.
Why is he going abroad?

A. To study. B. To visit his friend. C. His parents are abroad.
How long is Juan’ s flight?

A. 4 hours. B. 3 hours. C. 7 hours

« 10 -
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1. Where does the conversation probably take place?

A. On the train. B. On the ship. C. On a plane.
2. What does the man want to have?
A. Ice cream. B. Tea. C. Coffee.

3. Where are the woman and the man probably talking?
A. In a shopping center. B. In a hospital. C. On a crowded bus.
4, What are the two speakers talking about?
A. Paintings. B. Rivers and mountains. C. Hobbies,
5. What can we learn about the man?
A. He is living in Paris now.  B. He once lived in Paris.
C. He would like to go to Paris with the woman.
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6. What happened to the woman?
A. She lost her job. B. The boss allowed her to go on a holiday.
C. She was given a chance to study abroad.
7. How did the man feel about the woman’ s boss’ decision?
A. He understoad it well. B. It was completely wrong. €. He didn’t understand it.
8. What should the woman do in the future?
A. She should go to work on time.
B. She should learn new things and work hard.
C. Both A and B.
WiEE 7 Bobh R, M5 9-11 #.

9. Where did the woman’ s parents first meet?

A. In New York. B. In Boston. C. In Otawa.
10. How old is the man when the conversation takes place?

A. 19 years old. B. 21 years old. C. 23 years old.
11. Which of the following countries hasn't the woman most probably been to?

A. India. B. Ireland. C. Canada.
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